

$$(4) \text{ let } \sqrt{\frac{1-\cos x}{1+\cos x}}$$

$$\text{Let } y = \tan^{-1} \sqrt{\frac{1-\cos x}{1+\cos x}} \quad (1)$$

$$\frac{1-\cos x}{1+\cos x} = \frac{2 \sin^2 x/2}{2 \cos^2 x/2}$$

$$\frac{1-\cos x}{1+\cos x} = \tan^2 x/2$$

$$\therefore y = \tan^{-1} (\tan^2 x/2)$$

$$\therefore y = x/2 \quad (1)$$

Differentiate Equation (1) with respect to 'x'

$$\therefore \frac{dy}{dx} = \frac{1}{2} \frac{d}{dx} (x)$$

$$\therefore \frac{dy}{dx} = \frac{1}{2} \times 1$$

$$\boxed{\frac{dy}{dx} = \frac{1}{2}}$$

$$\cos 2\theta = \cos^2 \theta - \sin^2 \theta$$

$$\sin^2 \theta + \cos^2 \theta = 1$$

$$\theta = x$$

$$\cos 2x = \cos^2 x - \sin^2 x$$

$$= \cos^2 x - (1 - \cos^2 x)$$

$$= \cos^2 x - 1 + \cos^2 x$$

$$= 2\cos^2 x - 1$$

$$\cos 2x + 1 = 2\cos^2 x$$

$$\cos x + 1 = 2\cos^2 x/2$$

$$1 + \cos x = 2\cos^2 x/2$$

similarly

$$1 - \cos x = 2\sin^2 x/2$$

Preview from Notesale.co.uk
Page 10 of 14

$$⑤ \quad \cos^{-1}(\log_2 x)$$

Solution: let $y = \cos^{-1}(\log_2 x)$ — (1)

Differentiate equation (1) with respect to x ,

$$\frac{dy}{dx} = - \frac{1}{\sqrt{1 - (\log_2 x)^2}} \frac{d}{dx} [\log_2 x]$$

$$\therefore \frac{dy}{dx} = - \frac{1}{\sqrt{1 - \frac{(\log x)^2}{(\log 2)^2}}} \frac{d}{dx} \left[\frac{\log x}{\log 2} \right] \quad \text{--- [By change of base law]}$$

$$\frac{dy}{dx} = - \frac{1}{\sqrt{\frac{(\log 2)^2 - (\log x)^2}{(\log 2)^2}}} \times \frac{1}{\log 2} \frac{d}{dx} (\log x)$$

$$\frac{dy}{dx} = - \frac{1}{\sqrt{\frac{(\log 2)^2 - (\log x)^2}{(\log 2)^2}}} \times \frac{1}{\log 2} \times \frac{1}{x}$$

$$\frac{dy}{dx} = - \frac{\log 2}{\sqrt{(\log 2)^2 - (\log x)^2}} \times \frac{1}{\log 2} \times \frac{1}{x}$$

$$\frac{dy}{dx} = - \frac{1}{x \sqrt{(\log 2)^2 - (\log x)^2}}$$